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S0 6 asLi 2 kg 1.180.000 200 w.Sg,lS alg)
oigsi oS 16
S0 6 asLi 3 kg 1.770.000 250 w.S9)lS alg)
oigw olsS 16
Syio 6 axli 5 kg 2.950.000 315 «..Sg,lS alg)
oigw olsS 16
S0 6 axla 7.5 kg 4.500.000 400 .S)lS algy)
g oS 16
S0 6 asLi 12.5 kg 7.500.000 500 . So,l8 alg)
g olsS 16
S0 6 asLi 17.5 kg 10.500.000 600 .So,S ag)
oigw olsS 16
Syio 6 axli 24 kg 15.000.000 700 ..Sq,lS aJg)
oigw olsS 16
Sy 6 aslo 34 kg 20.400.000 800 ..39,1S aJg)
g oliS 16
S0 6 asLi 45 kg 27.000.000 900 .S,lS agl
g olsS 16
S0 6 asLi 47 kg 28.200.000 1000 w.So,lS alg)
oigw olsS 16
S0 6 asLi 600.000 110 oS 5,18 ag)
wigw ohS 31/5
S0 6 asLi 950.000 125 o So,lS alg)
g oluS 31/5
S0 6 asLi 1.8 kg 1.060.000 160 w.So,lS alg)
g oluS 31/5
S0 6 asLi 2.5 kg 1.480.000 200 w.S9)lS alg)
oigwi oluS 31/5
S0 6 asLi 3.7 kg 2.180.000 250 w.So,lS ag)
oigwi oluS 31/5
S0 6 asLi 6 kg 3.540.000 315 .S, ag)
g oluS 31/5
S0 6 asLi 9 kg 5.400.000 400 . S9,lS alg)
g oluS 31/5




Syio 6 Lo 14.5 kg 8.700.000 500 w.So,lS g
s olsS 31/5
S0 6 asLi 20 kg 12.000.000 600 .So,lS ag)
wigw oS 31/5
S0 6 asLi 29 kg 17.400.000 700 . So,lS g
oigsi oluS 31/5
S0 6 5L 38 kg 22.800.000 800 w.Sy,ls alg)
s olsS 31/5
S0 6 5Lk 52 kg 31.200.000 900 S 9,15 alg
s olsS 31/5
S0 6 asLi 58 kg 34.200.000 1000 <. So)lS alg)

wigw olS 31/5




